
DAV PUBLIC SCHOOL,IB VALLEY AREA MCL,BRAJRAJNAGAR.  

Holiday Assignment (CLASS 6th) 

Subject Assignment 

ENGLISH Q1. READING SECTION (UNSEEN PASSAGE) 

Read the following poem and answer the questions that follow. (1×10) 

 LEISURE 

What is this life if, full of care, 

We have no time to stand and stare?— 

No time to stand beneath the boughs, 

And stare as long as sheep and cows: 

No time to see, when woods we pass, 

Where squirrels hide their nuts in grass: 

No time to see, in broad daylight, 

Streams full of stars, like skies at night: 

No time to turn at Beauty's glance, 

And watch her feet, how they can dance: 

No time to wait till her mouth can 

Enrich that smile her eyes began? 

A poor life this if, full of care, 

We have no time to stand and stare. 

*SELECT THE CORRECT OPTION 

i) According to the poem life is dull and poor if we do not have ____. 

[a) leisure b) money c) power d) good health.] 

ii) What does the word ‘care’ in line 1 mean? 

[ a) worries b) busyness c) both ‘a’ and ‘b’ d) free time ] 

iii) Why does the speaker think it's important to "stand and stare"? 

(a) To get fresh air (c) To look at the sky  

(b) To appreciate the beauty of nature. (d) To rest tired feet 

iv) The phrase "stand beneath the boughs" most likely refers to standing under: 

(a) A waterfall. (c) The branches of a tree. 

(b) A bridge. (d) A starry sky. 

v) What does the poet say we miss by not having enough leisure? 

(a) Watching cars go by. (c) Reading interesting books. 

(b) Seeing squirrels hide their nuts in grass. (d) Talking to our friends. 

vi) The line "No time to see, when woods we pass, / Where squirrels hide their 

nuts in  

grass" suggests that we are usually: 

(a) Walking too slowly. (c) Afraid of squirrels. 



(b) Too busy to notice nature. (d) Lost in the woods. 

vii) What is the rhyming word for "bough" in the poem? 

(a) Down (b) Touch (c) Cow (d) Now 

viii) What does the speaker say about the squirrels in the poem? 

(a) They are always busy (c) They hide nuts in the grass 

(b) They are playing games (d) They are eating fruits 

ix) Why does the poet repeat the phrase "no time"? 

(a) To emphasize the lack of leisure in our lives  

(b) To make the poem more interesting 

(c) To make the poem sound longer 

(d) To make the poem sound sad 

x) Identify the figure of speech in the phrase “ beneath the boughs” . 

a) simile b) metaphor c) alliteration d) personification 

Q2. LITERATURE ( Ch- 1 ad 2) .SHORT ANSWER TYPE QUESTIONS ( 2×10) 

a) Identify any four professions that Daddy wanted practise when he  

would grow up. 

b) Daddy wanted to be a nightwatchman . State the reasons behind it. 

c) Daddy once decided to be an ice-cream seller. State the reasons for  

making such a choice. 

d) Describe briefly the efforts Daddy made to become a dog. 

e) Describe Daddy’s feelings after meeting the officer. 

f) Mention the way in which the white elephant helped the forester. 

g) The white elephant’s mother warned him against helping the man in  

distress. State the reasons. 

h) Describe the forester’s response to the white elephant’s good deed. 

i) Do you approve of the forester’s attitude towards the white elephant?  

Justify your answer. 

j) Daddy often changed his mind about what he wanted to be. Why he  

did like that? What did he finally decide to be? 

Q3. WRITING SKILLS  

A) Imagine you are Daddy from the chapter – “How Daddy  

Decided What He Wanted To Be”. Write a letter to your friend  

describing your feelings after meeting the officer. (6 marks) 

B) Write a notice inviting the students of class vi to viii for a  

patriotic song competition on the eve of Independence Day.  

Mention the necessary details – name of the institution ,date,  

venue, time etc. Imagine you are Raghav/ Ragini – the Head  

boy/ girl of Blue Bells Public School, Pune. (4 marks) 

C) Write an e-mail to your friend thanking him/her for a beautiful  

birthday gift. (4marks) 



D) We celebrate many festivals in our country. Festivals provide  

an oppurtunity for relaxation, recreation, upholding our religious  

and cultural values and to spend quality time with family and  

friends. Taking hints from CELEBRATIONS( Unit 1 ; My English  

Reader) , write a paragraph on ‘ The Importance of Festivals’. 

HINTS 

*Festival provide a window into our history, beliefs, and customs, helping to 

preserve and  

pass them down through generations. 

* Festivals strengthens social bonds, fosters a sense of belonging, and promotes 

harmony. 

* They offer a break from the routine of daily life and provide opportunities for 

merriment,  

entertainment, and relaxation. 

*They boost local businesses, tourism, and employment through fairs, markets, 

and special  

events. 

*They serve as reminders of the principles that bind a society together. 

HINDI 1. लेखक को महिपाल ससिंि की चिट्ठी में सबसे आकर्षक क्या लगा ? 
  (क)  चिट्ठी का विर्य 
  (ख)  चिट्ठी की स िंदर सलखािट 
  (ग) चिट्ठी में कविता की मााँग   
  (घ) चिट्ठी की भार्ा   
 2. लेखक ने पिली बार ककसके आग्रि पर कविता भेजी? 
   (क) अपने समत्र के 
   (ख) एक विद्यालय के 
   (ग) अखबार के सिंपादक महिपाल ससिंि के 
   (घ) अपने ग रु के 
  3. महिपाल ससिंि द्िारा सिंपाहदत अख़बार की सबसे बडी विशरे्ता क्या थी? 
     (क) केिल राष्ट्रीय समािार 
     (ख) क़िल्मी खबरें 
     (ग) गााँि की बातें और ककसानों की जानकारी 
     (घ) बच्िों के सलए किाननयााँ 
   4. लेखक और महिपाल ससिंि के बीि सिंबिंध कैसे बने? 
      (क) कॉलेज में पढाई के दौरान 
      (ख) पत्रों और रिनाओिं के आदान-प्रदान से 



      (ग)  एक शादी समारोि में समलने से 
      (घ) बिपन के समत्र िोने से 
 5. लेखक महिपाल ससिंि से कब समलने गया? 
    (क) जब उन्िें चिट्ठी समली 
    (ख) जब उनकी नौकरी लगी 
    (ग) एक शादी में जाने के दौरान 
    (घ) अपने पररिार के साथ यात्रा मे 
6. कविता “साथी िाथ बढाना” का म ख्य सिंदेश क्या िै? 
   (क)  अकेले िलने की प्रेरणा 
   (ख)  समलकर कायष करने की शक्क्त 
   (ग)  प्रकृनत का सौंदयष 
   (घ)  िार मान लेना 
 
7. कविता में कवि ने ककन्िें “़िौलादी” किा िै? 
   (क)  िट्टानों को 
   (ख) परबतों को 
   (ग)  सीने और बााँिों को 
   (घ)  समिंदर को 
8. “सागर ने रस्ता छोडा” इस पिंक्क्त का क्या अथष िै? 
  (क)  सागर सूख गया 
  (ख)  समलकर कायष करने से कहठनाइयााँ दरू िोती िैं 
  (ग)  सम द्र डर गया 
  (घ)  पानी बिने लगा  
9. कवि के अन सार, मेिनत ककसकी रेखा िै? 
   (क)  तक़दीर की 
   (ख) इनतिास की 
   (ग)  लेख की 
   (घ) जीिन की 
10. “राई बन सकती िै परबत” यि उदािरण ककस बात को दशाषता िै? 
    (क)  िमत्कार की शक्क्त 
    (ख) एकता की शक्क्त 
    (ग)  ित राई की मित्ता 
    (घ) पररश्रम की व्यथषता 



 
  नीि ेहदए गए प्रश्नों के उत्तर एक िाक्य में दीक्जए - 

1. कविता में “साथी िाथ बढाना” से कवि का क्या तात्पयष िै? 
2. कवि ने िट्टानों में क्या पैदा करने की बात किी िै? 
3. मेिनत का क्या मित्ि बताया गया िै? 
4. “अपना द ख भी एक िै साथी, अपना स ख भी एक” का क्या आशय िै? 
5. जब मेिनतकश समलकर कदम बढाते िैं तो प्रकृनत का क्या व्यििार 

िोता िै? 
  6.लेखक को चिट्ठी ककस समय प्राप्त ि ई 
  7.महिपाल ससिंि ने लेखक से क्या मााँगा था? 
  8.लेखक ने पिली कविता भेजने के ककतने समय बाद दसूरी कविता भेजी? 
  9.महिपाल ससिंि की चिट्हठयााँ समय-समय पर ककससलए आती थीिं? 
  10.लेखक ने महिपाल ससिंि के घर जाकर क्या किा? 

 
नीि ेहदए गए प्रश्नों के उत्तर 50 – 60 शब्दों में दीक्जए - 

1. साथी िाथ बढाना से सिंबिंचधत सभी प्रश्नों के उत्तर अपनी हििंदी प क्स्तका में 
तैयार करें।  

   2-अभ्यास सागर पाठ- 1 से सिंबिंचधत सभी प्रश्न उत्तर सलखें। 
3-‘मेिनत का फल’ विर्य से सिंबिंचधत 10 से 15 लाइन में एक अन च्छेद 
सलखखए  
4-कवि साहिर ल चधयानिी से सिंबिंचधत सभी सामचग्रयािं एकत्र कर एक 
पररयोजना कायष तैयार करें।  

          5-सिंय क्त व्यिंजन के कोई 20 शब्द सलखे। 
*************** 

 
ODIA ପ୍ରଶ୍ନଗଡୁ଼ିକର ଉତ୍ତର ଲେଖ  l 

 

୧-ବର୍ଷଲର ଲକଲ ୋଟ଼ି ଋ ୁ ଆଲେ ? 

(କ)-୩ (ଖ)- ୪(ଗ)-୬(ଘ)-୮ 
 

୨- ଗ୍ରୀଷ୍ମଋ ୁ ପଲର ଲକଉ ଁ ଋ ୁ ଆଲେ ? 

କ - ବର୍ଷୋଋ ୁ  ଖ  ଶୀ  ଋ ୁ    ଗ -ବେନ୍ତଋ ୁ ଘ - ଲେମନ୍ତ ଋ ୁ 
 

୩-ଲମଘମୋଲେ ଲକଉଠଁ଼ି ମ଼ିଳ଼ି  େୁଅନ୍ତ଼ି ? 



କ -   ପଥୃି଼ିବୀଲର   ଖ - ଶେୂୟପଥଲର ଗ -ମଞ୍ଚପଲୁର ଘ -ପୋ ୋଳପଲୁର 
 

୪-ପଥୃି଼ିବୀ େରୂ୍ଯଷୟଙ୍କ ଉତ୍ତୋପଲର ଲକଲ  ମୋେ ଉତ୍ତପ୍ତ ଥେିୋ ? 

କ -ଚୋର଼ିମୋେ   ଖ -ପୋଞ୍ଚମୋେ ଗ -ଛଅମୋେ  ଘ -ଆଠମୋେ  
 

୫- ଖଲ୍ୟୋ  ଲକଲ ଲବଲଳ ଉଡ଼ିବୁଲେ ? 

କ -େକୋଲଳ ଖ -ମଧ୍ୟୋହ୍ନଲର      ଗ - େନ୍ଧ୍ୟୋଲର ଘ -ରୋ ଼ିଲର 
 

୬-ପରୁୋ େ ଭୋର ର ଛୋତ୍ରମୋଲେ ଲକଉ ଁସ୍ଥୋେଲର ରେ଼ି ଶ଼ିକ୍ଷୋେୋଭ କରୁଥଲିେ ? 

କ -ଗେୃଲର ଖ -ଅରଣ୍ୟଲର ଗ-ବୋେୋଲର ଘ -ଅେୟଘଲର 
 

୭-ଲକଉମଁୋେଙ୍କର ପବ଼ିତ୍ର େମ୍ ୃ଼ି 

ଏଲବ ବ଼ି ଭୋର ୀୟଙ୍କ ପ୍ରୋଣ୍ଲର ଲଗୌରବ ଜନ୍ମୋଉଛ଼ି ? 

କ -ରୋଜୋ ମେୋରୋଜୋ ଖ-େୋରୋୟଣ୍ ଗ-େରେୋରୀ ଘ-ଲର୍ଯୋଗୀ ଋର଼୍ି 
 

୮-ରୋଜୋ ମେୋରୋଜୋମୋଲେ ଜୀବେଲର କୋେୋର ଆଶ୍ରୟ ଲେଇ େ଼ିଜକ ୁକୃ ୋଥଷ ମଣ୍ଥୁଲିେ? 

କ -ମେୁ଼ିବେ  ରୁଛୋୟୋ ଖ-ଅରଣ୍ୟ ଗ -ରୋଜପ୍ରେୋ୍ ଘ-ଗେୃ 
 

୯-ବେବୋଣ୍ୀ ର ଲେଖକ କ଼ିଏ? କ -ଜଗନ୍ନୋଥ ୍ୋେ ଖ-ବେମୋଳୀ ୍ୋେ ଗ-ଲଗୋପବନୁ୍ଧ୍ ୍ୋେ ଘ-ବଳରୋମ ୍ୋେ  

୧୦-େ ୟବୋ୍ୀ ବେବ଼ି୍ୟୋଳୟ ର ପ୍ର ଼ିଷ୍ ଠୋ ୋ କ଼ିଏ ? 

କ -ଲଗୋପବନୁ୍ଧ୍ ୍ୋେ ଖ-ମେୁ଼ିଋର଼୍ି ଗ -ରୋଜୋ  ଘ-ପ୍ରଜୋ  
 

୨-ଉତ୍ତର ଲେଖ । 

(କ) ଲମଘମୋଳ, କ଼ିପର଼ି ଭୋବଲର ଜଳ ବର୍ଷୋ କଲେ ? 
 

(ଖ) ‘ଗଜଷନ୍ତ଼ି ଆଲବୋର଼ିଣ୍ ପୋଣ଼୍ି’– ଏଠୋଲର କ଼ିଏ ଗଜିବୋ କଥୋ କୁେୋର୍ଯୋଇଛ଼ି ? 

 

(ଗ) ଏେ଼ି କବ଼ି ୋଲର କୋେୋକୁ ରୋଜୋ ଲବୋେ଼ି କୁେୋର୍ଯୋଇଛ଼ି ? 
 

(ଘ) ବର୍ଷୋଋ ୁକୁ େକଳ ଋ ୁଙ୍କର େୋର ଲବୋେ଼ି  କବ଼ି କୋେ଼ିକଁ଼ି କେ଼ିଛନ୍ତ଼ି ? 
 

(ଙ) ମୟୂର କୋେୋକୁ ଚୋେ଼ି ଁ େୃ ୟ କଲର? 
 

(ଚ) ଭୋର ର ମେୋପରୁୁର୍ମୋଲେ ଅରଣ୍ୟକୁ ଲକଉ ଁ ରୂଲପ େ଼ିରୂପଣ୍ କର଼ିଥଲିେ ? 

(ଛ) ଅରଣ୍ୟ ଭୋର ୀୟ େଭୟ ୋର ଲକନ୍ଦ୍ର  ଥେିୋ ? 
 

(ଜ )ବତ୍ତଷମୋେ ଅଲେକଙ୍କ େୃ୍ୟଲର ଲକଉ ଁ ଆଶୋ ଜୋଗ଼ିଛ଼ି ?  
 

(ଝ )ଭୋର ୀୟ  େଭୟ ୋର ବ଼ିଲଶର୍ତ୍ୱ କ'ଣ୍ ? 
 

(ଞ) ଭୋର ର ଲକଉ ଁ ପ୍ରୋଚୀେ କୋବୟ, େୋଟକ ଆ଼୍ିଲର ଅରଣ୍ୟର କଥୋ କୁେୋର୍ଯୋଇଛ଼ି ? 
 

୩-େରଳ ଭୋର୍ୋଲର ବୁଝୋଇ ଲେଖ  l  
 

(କ) ମେୀ ମଣ୍ଡଳ ୍ୁୁଃଖ ଋେ଼ି ଁ 

ଜଳ ଛୋଡ଼ିେୋ ଲ ୋର୍ ଲେୋଇ । 



 

(ଖ) ଅଳପ େ୍ୀଏ ପରୂ଼ିଲେ େେର଼ି ମଲ  ଉଛୁଳ଼ିଲେ । 
 

(ଗ) ଛ ୁଲର୍ଯ ଛତ୍ର ପ୍ରୋୟ ଲେୋଇ 

ରୋଜୋର ପ୍ରୋୟ ଼୍ିଲଶ ମେୀ ।  
 

(ଘ) ପ୍ରକୃ ଼ି ଲେମୋେଙ୍କ େ଼ିକଟଲର େ଼ିଜଷୀବ ଏବଂ ଜଡ େୁଲେ,ଁ  ୋେୋ ଏକ ମେୋଶକ୍ତ଼ି । 
 

(ଙ) ଭୋର ର େଭୟ ୋ ଓ ଚ଼ିନ୍ତୋର ଗ ଼ି ଲକଲ କ ପର଼ିମୋଣ୍ଲର ବୋେ଼ିୟକ ପ୍ରଭୋବଲର ପର଼ିବରି୍  ଲେୋଇଛ଼ି । 

SANSKRIT 1.तत,् एतत,् ककम ्सिषनाम शब्दानािं लेखनम ्  

 

2.प रः प रः प्रयच्छ रे - पाठस्य कण्ठस्थीकरणम।्  
 

3.पाठानािं प्रश्नोत्तराणाम ्पठनम।्  
 

4.स्िविद्यालयस्य चित्रननमाषणम।् 
 

5. िणाषन ्विभज्य सलखत - 

 

अवप = 

 

अध ना = 

 

अथिा=  

 

अतः = 

 

आम ्= 

 

उच्िैः = 

 

शनःै = 

 

एि = 

 

एकदा = 

 

एिम ्= 

 

ि = 

 

न = 

 



नीिैः = 

 

प नः = 

 

परन्त  = 

 

प रा = 

 

शीघ्रम ्= 

 

श्िः = 

 

ह्यः = 

 

6. प्रश्नानाम ्उत्तराखण यच्छत- 

 

क) मम विद्यालयः कीदृशः अक्स्त ? 

 

ख) कानन स न्दराखण सक्न्त ? 

 

ग) अििं कैः सि क्रीडासम ? 

 

घ) ियिं समसलत्िा कानन गायामः ? 

 

ङ) ियिं केर्ािं सम्मानिं क मषः ? 
MATH General instructions: 

No.1 to 10 are of MCQ type questions. 

No. 11 to 20 are short answer type questions. 

No.21 to 25 are long answer type questions. 

 

1. Which is the Roman numeral of 49? 

      a)XCVII    b) XLIX   c) LXXIX    d)   XCI 

2. Which of the following is the distributive property under addition? 

      a) a – b = b - a          b) ab = ba     c) a × ( b +c ) = a × 𝑏 + a × 𝑐       d) a + 

b = a + c  . 

3 .The estimated value of 36 + 71 - 55 is  

      a) 40   b) 50   c)  70   d) 150  

4. The predecessor of the predecessor of the smallest 6-digit number is  

      a) 99,999    b) 99,998     c) 99,997      d)  1,00,000 



5. ____ + XLVI = LXX. 

      a) XXVI           b) XIV                 c) XIV             d) XXVI 

6. Which of the following is not a natural number? 

a) 3 + 5 - 2  b) 4 × 0  c) 8 ÷ 8  d) 6 – 3   

7. The predecessor of the smallest five digit number is: 

        a) 9997   b) 9999 c) 9998   d) 10001  

8. 947 ×   (      ) = 947. 

     a) 0    b) 947      c) 1  d) 2. 

9.  The additive identity for addition is 

      a) 1     b) 2  c) 0    d)   -1 

10. What is the smallest whole number? 

    a) 0                b) 1           c) 9         d) -1   

11. Write the Roman numerals of the 78 & 93.  

12. Using distributive property, solve: 322×25 ×6 - 322×10×15 

13. Find the smallest number which when divide by 25, 40, 60 leaves remainder 7 

in each case. 

14. Applying distributive property. Find the value of 635 x 165 – 635 x 65 – 635. 

15. Using distributive property, solve 223×25×6- 223×10×15 

16. Find the least number that should be added to 2000 so that 45 divides the sum 

exactly. 

17. Find the least number that should be added to 2000, So that 45 divide the sum 

exactly. 

18. 750×17+ 750×38+ 27×750 +18×750 

19. Find the least number that should be added to 2000 so that 45 divide the sum 

exactly. 

20. Arrange LVII, XC, XV, LXIV, LXXI, XXIX in descending order. 

21. In a school, the monthly fee of a child is  497. If there are 2983 students in a 

school, find the total fee collected in a month. (Use distributive property of 

multiplication). 

22. Divide and check:   2781÷ 35. 



23. Rohan buys 12 computer and printers of the cost of one computer and printer 

is `Rs 56,233 and Rs 7,867 respectively. Find the total cost incurred by Rohan. ( 

Use the distributive property of multiplication) 

24.Cost of 5 pizzas is  725 & 6 pastries is  54. If I want to purchase 3 pizzas & 

12 pastries, how much should I pay? 

25. Find two numbers nearest to 4000 which are divisible by 35. 

SCIENCE 1. Pick a nocturnal animal from the following 
 a. Sparrow 
 b. Parrot 
 c. Owl  
d. Tiger  
2. It is very important for garbage management that 
 a. Biodegradable and non- biodegradable waste is segregated at home. 
 b. Proper importance is given to reuse of articles.  
c. Recycling is done  
d. All of these  
3. Anuja noticed her potted plant was not looking healthy. She put three 
earthworms into the pot. After a few days she noticed that her plant was 
looking healthier. What could be the possible reason for this change? 
 a. The earthworms helped the plant to take in water. 
 b. The earthworms ate up the pests in the soil. 
 c. The earthworms allowed the plants to make food faster.  
d. The earthworms increased the air and nutrient contents of the soil. 
 4. This flower always faces the east in the morning but turns towards the west 
in the evening.  
a. Petunia  
b. Rose  
c. Sunflower  
d. Primrose 
 5. Snail, tuna, dolphin and plankton (form) are a part of  
a. Food web  
b. Terrestrial food chain  
c. Aquatic food chain  
d. None of above  
6. Humans, bears and pigs belong to this category  
a. Secondary consumers  
b. Omnivores  
c. Herbivores  
d. Decomposers  
7. Which of the following is a scavenger?  
a. Jackal  
b. Vulture  
c. Kite  



d. All of above  
8. Rain-water harvesting is helpful in 
 a. Supplementing a city’s water requirement 
 b. Raise the underground water level & increase greenery in the area 
 c. Make underground water dirty  
d. Both a & b  
9. Which of these is biodegradable ?  
a. Cloth  
b. Plastic  
c. Aluminium foil  
d. Bricks  
10. Which of these is not used during photosynthesis?  
a. Water  
b. Sunlight  
c. Oxygen  
d. Chlorophyll 
 
2 MARK QUESTION 
1. Write the meaning of the term ‘decomposers’.  
2. Explain the process of ‘Photosynthesis’ briefly.  
3. Explain a food chain with the help of a suitable example.  
4. Write four ways by which water wastage can be brought down.  
5. How are scavengers helping in cleaning the environment ? 
6. Explain the process of recycling of minerals. 
7. How can camels live without water for many days? 
8. Give one difference between autotrophs and heterotrophs with the help of 
suitable examples.  
9. How is the balance between oxygen and carbon-dioxide maintained in the 
atmosphere ?  
10. How does vermicomposting benefit the environment ? Explain. 
 
LONG QUESTIONS 
1. Differentiate between  

a) Herbivores and Carnivores  
b) Biodegradable and Non-biodegradable 
c) Biotic and Abiotic components 

2. Make a colourful poster on being ‘ Water wise’ ! 
3. Make a mineral cycl in a A4 size chart 
4. Draw a diagram of tertial and aquatic food chain 
5. Draw a diagram that show the inter relationship among biotic and abiotic 
components of the enviornment 

SST 1. Which of the following planets is not a gaseous body? 

(A)Saturn.      (B) Uranus  
(C) Venus.      (D) Neptune  

2. All the stars in a huge cluster are hold together by mutual  



(A) Gravitational force  
(B) Centrifugal force  
(C)Centripetal force  
(D) None of these  

3. Heavenly bodies include  
(A) The Sun 
(B) The planet  
(C) Both A and B 
(D) None of the above  

4. Which planet is known as the Red Planet? 
(A) Jupiter  
(B) Mars 
(C) Earth 
(D) Saturn  

5. Before the invention of paper, people wrote on  
(A) Notebooks 
(B) Cloth 
(C) Bhojpatra 
(D)None of these  

6.Vedas are associated with  
(A) Buddhists 
(B) Jains 
(C) Hindus 
(D) All of these  

7. The Greek traveller who visited India was  
(A) Fa-hien 
(B) Meghasthenes 
(C) Kautilya  
(D)None of these  

8. Ishwar Chandra Vidyasagar was a  
(A) Social reformer  
(B) Religious reformer  
(C)Freedom Fighter  
(D) Educationist  

9. Yellow revolution is related to  
(A) Foodgrains  
(B) Fishery 
(C)Oil seeds 
(D) Milk 

10.Assam is associated with  
(A) Bihu 
(B)Ghoomer 
(C) Odishi  
(D)Garba 
Short Question  



1.  What do the space scientists and astronomers used to study the celestial 

bodies? 

2. What time does the moon take to complete one rotation on its axis and 

one revolution around the earth?  

3. What do you know about the surface of the Moon?  

4. What is the distance between the Earth and the Sun?  

5. Mention any two objects that archaeologists may find.  

6. What do inscriptions on rocks, pillars and the wall of temples tell us? 

7. How do we get knowledge about prehistory?  

8. How does the family help us ?Give two points. 

9.  Why do people from rural areas come and settle in cities? 

10. Why is a friendly neighbourhood essential?  

Long Question .(5)  
1. Distinguish between the rural and urban communities. 

2. How did the community life begin? 

3. Distinguish between archaeological and literary sources.  

4. How does the study of coins help the historians?  

5. State three features which make the Earth a unique planet. 

 
 

 

 


